
HOMEWORK ASSIGNMENT JI1:ORGANIC CHEMISTRY I (30 PtS)

Lewis Modeling: D
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sulfur dioxide, SO2 notè: S is centrally bonded to both O (2 pts)
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4a) Givcn thâI th¡onyl chloride (SOCI¿) is entirely single-bonded, what are the

expected formal charges orr the individual atoms ? Assume S is centralto o ¿-+l

both Cl (2 pts totaf) ¡ rr.r l'- ::. 't. (TlC.{* 1ì.-.Cf .
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4b) lf the S is double-bonded to one of the Çl; drawthe most stable Lewis structure w¡th the

formula SOCI¿ which obeys the octet rule , lndicate any formal charges on each atom' (Assume

S is centrat to O and both Cl. The overall molecule can be either a cat¡on or ån anion, e.g. ¡t can

hold a net charge) (2 pts)
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6. Decide whether the pairs betow are the same or different chem¡cal spec¡es and briefly explain wltv they

are the same or different: (2 pts e¿ch/6 pts total)
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